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g Grey line: exponential fit Peak flux: 3.052+/- 0.482 c/s/cm® g
- S':‘g:;;”ﬁ;g_"“f\;ﬁ‘?;\;ga”“f“ Fluence : 23.42+/- 2.89 clcm’ =
- P Duration : 22.41+/- 3.22's 3
- Best fit model: 1. 3
= Best fluence model: 1. =
- Best duration model: 1. .
= [NLTRYTT LAy il E
; TMH % I JH WJ ﬁ g‘”%ﬁ T Hw I w T ”‘ TIHTRH TIHTHWE
; Exponential fit é
= Expon.time: 6.81+/- 0.98 s (chi*red= 1.24) 3
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; Power law fit é
= Power law index: -1.878+/- 0.187 (chi’-red= 1.25) 3
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— Power law fit plus Gaussian (st.dev.= 13.31+/- 2.71 s, fracgs= 0.60+/- 0.44) =
- Power law index: -2.442+/- 1.262 (chi*-red= 1.24) 7
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